Purchase Order #	Date:
TO: Watercenter	Dhanay (206) 440 2009
6830 NE Bothell Way #C424	Phone: (206) 440-3008 Fax: (240) 208-7289
Kenmore, WA 98028	eMail: sales@watercenter.net
Purchase Order No.:	VISAMasterCardCheck
Authorized Signature:	exp. date:
BILL TO:	SHIP TO:
School/District:	School:
Attention:	Attention:
Address:	Address:
City/State/ZIP:	City/State/ZIP:
Phone:	Phone:
FAX:	FAX:
eMAIL:	eMAIL:
SUMMARY Total Kits (from attached spreadsheet INVOICE) SAVINGS TOTAL

			List		Online		
SKU	500 - Drinking Water Basic Tests	Qty	Price	Savings	Price	SubTotal	Kits Total
500-Base7-2	Kit contains 2 Sets of 7 tests = 14 Tests		36.99		31.19		
500-Base7-3	Kit contains 3 Sets of 7 tests = 21 Tests		39.99		33.29		
500-Base7-4	Kit contains 4 Sets of 7 tests = 28 Tests		43.99		36.19		
500-Base7-6	Kit contains 6 Sets of 7 tests = 42 Tests		51.49		41.89		
500-Base7-8	Kit contains 8 Sets of 7 tests = 56 Tests		58.49		47.49		
500-Base7-9	Kit contains 9 Sets of 7 tests = 63 Tests		61.99		49.69		
500-Base7-10	Kit contains 10 Sets of 7 tests = 70 Tests		65.49		52.49		
500-Base7-12	Kit contains 12 Sets of 7 tests = 84 Tests		72.39		57.29		
500-Base7-15	Kit contains 15 Sets of 7 tests = 105 Tests		82.89		64.79		
500-Base7-18	Kit contains 18 Sets of 7 tests = 126 Tests		93.39		72.99		
500-Base7-21	Kit contains 21 Sets of 7 tests = 147 Tests		103.79		81.09		
500-Base7-24	Kit contains 24 Sets of 7 tests = 168 Tests		114.29		86.99		
500-Base7-27	Kit contains 27 Sets of 7 tests = 189 Tests		124.79		94.99		
500-Base7-30	Kit contains 30 Sets of 7 tests = 210 Tests		135.19		102.89		
500-Base7-33	Kit contains 33 Sets of 7 tests = 231 Tests		145.69		110.89		
SKU	504 - Drinking Water Basic Tests Plus Bacteria	Qty	Price	Savings	Price	SubTotal	Kits Total
504-BasePL8-2	Kit contains 2 Sets of 8 tests = 16 Tests		48.99		41.29		
504-BasePL8-3	Kit contains 3 Sets of 8 tests = 24 Tests		55.99		46.59		
504-BasePL8-4	Kit contains 4 Sets of 8 tests = 32 Tests		61.99		50.99		
504-BasePL8-6	Kit contains 6 Sets of 8 tests = 48 Tests		75.39		61.19		
504-BasePL8-8	Kit contains 8 Sets of 8 tests = 64 Tests		87.99		71.39		
504-BasePL8-9	Kit contains 9 Sets of 8 tests = 72 Tests		94.39		75.69		
504-BasePL8-10	Kit contains 10 Sets of 8 tests = 80 Tests		100.69		80.69		
504-BasePL8-12	Kit contains 12 Sets of 8 tests = 96 Tests		113.39		89.69		
504-BasePL8-15	Kit contains 15 Sets of 8 tests = 120 Tests		132.39		103.39		
504-BasePL8-18	Kit contains 18 Sets of 8 tests = 144 Tests		151.39		118.19		
504-BasePL8-21	Kit contains 21 Sets of 8 tests = 168 Tests		170.39		133.09		
504-BasePL8-24	Kit contains 24 Sets of 8 tests = 192 Tests		189.39		144.09		
504-BasePL8-27	Kit contains 27 Sets of 8 tests = 216 Tests		208.39		158.49		
504-BasePL8-30	Kit contains 30 Sets of 8 tests = 240 Tests		227.39		172.99		
504-BasePL8-33	Kit contains 33 Sets of 8 tests = 264 Tests		246.39		187.39		
SKU	508 - Drinking Water Full Panel and Bacteria Tests	Qty	Price	Savings	Price	SubTotal	Kits Total
508-BaseFull10-2	Kit contains 2 Sets of 10 tests = 20 Tests		53.99		45.49		
508-BaseFull10-3	Kit contains 3 Sets of 10 tests = 30 Tests		62.99		52.39		
508-BaseFull10-4	Kit contains 4 Sets of 10 tests = 40 Tests		71.99		59.19		
508-BaseFull10-6	Kit contains 6 Sets of 10 tests = 60 Tests		89.99		72.99		
508-BaseFull10-8	Kit contains 8 Sets of 10 tests = 80 Tests		107.49		87.19		
508-BaseFull10-9	Kit contains 9 Sets of 10 tests = 90 Tests		116.29		93.19		
508-BaseFull10-10	Kit contains 10 Sets of 10 tests = 100 Tests		125.09		100.19		
508-BaseFull10-12	Kit contains 12 Sets of 10 tests = 120 Tests		142.69		112.89		
508-BaseFull10-15	Kit contains 15 Sets of 10 tests = 150 Tests		168.99		131.99		
508-BaseFull10-18	Kit contains 18 Sets of 10 tests = 180 Tests		195.29		152.49		
508-BaseFull10-21	Kit contains 21 Sets of 10 tests = 210 Tests		221.59		172.99		
508-BaseFull10-24	Kit contains 24 Sets of 10 tests = 240 Tests		247.99		188.59		
508-BaseFull10-27	Kit contains 27 Sets of 10 tests = 270 Tests		274.29		208.59		
508-BaseFull10-30	Kit contains 30 Sets of 10 tests = 300 Tests		300.59		228.59		
508-BaseFull10-33	Kit contains 33 Sets of 10 tests = 330 Tests		326.99		248.69		

			List		Online		
SKU	514 - City Water Profile	Qty	Price	Savings	Price	SubTotal	Kits Total
514-CW6-2	Kit contains 2 Sets of 6 tests = 12 Tests		42.99		35.79		
514-CW6-3	Kit contains 3 Sets of 6 tests = 18 Tests		46.99		38.69		
514-CW6-4	Kit contains 4 Sets of 6 tests = 24 Tests		56.29		45.69		
514-CW6-6	Kit contains 6 Sets of 6 tests = 36 Tests		64.79		52.59		
514-CW6-8	Kit contains 8 Sets of 6 tests = 48 Tests		69.09		55.39		
514-CW6-9	Kit contains 9 Sets of 6 tests = 54 Tests		73.29		58.79		
514-CW6-10	Kit contains 10 Sets of 6 tests = 60 Tests		81.79		64.79		
514-CW6-12	Kit contains 12 Sets of 6 tests = 72 Tests		94.49		73.89		
514-CW6-15	Kit contains 15 Sets of 6 tests = 90 Tests		107.29		83.79		
514-CW6-18	Kit contains 18 Sets of 6 tests = 108 Tests		119.99		93.69		
514-CW6-21	Kit contains 21 Sets of 6 tests = 126 Tests		132.79		101.09		
514-CW6-24	Kit contains 24 Sets of 6 tests = 144 Tests		145.49		110.69		
514-CW6-27	Kit contains 27 Sets of 6 tests = 162 Tests		158.29		120.49		
514-CW6-30	Kit contains 30 Sets of 6 tests = 180 Tests		170.99		130.09		
514-CW6-33	Kit contains 33 Sets of 6 tests = 198 Tests		168.89		128.49		
SKU	518 - Well Water Profile	Qty	Price	Savings	Price	SubTotal	Kits Total
518-WW6-2	Kit contains 2 Sets of 6 tests = 12 Tests		38.99		32.89		
518-WW6-3	Kit contains 3 Sets of 6 tests = 18 Tests		42.99		35.79		
518-WW6-4	Kit contains 4 Sets of 6 tests = 24 Tests		46.99		38.69		
518-WW6-6	Kit contains 6 Sets of 6 tests = 36 Tests		55.79		45.29		
518-WW6-8	Kit contains 8 Sets of 6 tests = 48 Tests		64.19		52.09		
518-WW6-9	Kit contains 9 Sets of 6 tests = 54 Tests		68.29		54.79		
518-WW6-10	Kit contains 10 Sets of 6 tests = 60 Tests		72.49		58.09		
518-WW6-12	Kit contains 12 Sets of 6 tests = 72 Tests		80.89		64.09		
518-WW6-15	Kit contains 15 Sets of 6 tests = 90 Tests		93.39		72.99		
518-WW6-18	Kit contains 18 Sets of 6 tests = 108 Tests		105.89		82.69		
518-WW6-21	Kit contains 21 Sets of 6 tests = 126 Tests		118.39		92.49		
518-WW6-24	Kit contains 24 Sets of 6 tests = 144 Tests		130.89		99.59		
518-WW6-27	Kit contains 27 Sets of 6 tests = 162 Tests		143.39		109.09		
518-WW6-30	Kit contains 30 Sets of 6 tests = 180 Tests		155.99		118.69		
518-WW6-33	Kit contains 33 Sets of 6 tests = 198 Tests		168.49		128.19		
SKU	522 - Public Drinking Water Fountain	Qty	Price	Savings	Price	SubTotal	Kits Total
522-DWF6-2	Kit contains 2 Sets of 6 tests = 12 Tests		33.99		28.69		
522-DWF6-3	Kit contains 3 Sets of 6 tests = 18 Tests		38.99		32.49		
522-DWF6-4	Kit contains 4 Sets of 6 tests = 24 Tests		43.99		36.19		
522-DWF6-6	Kit contains 6 Sets of 6 tests = 36 Tests		54.59		44.39		
522-DWF6-8	Kit contains 8 Sets of 6 tests = 48 Tests		64.39		52.29		
522-DWF6-9	Kit contains 9 Sets of 6 tests = 54 Tests		69.29		55.59		
522-DWF6-10	Kit contains 10 Sets of 6 tests = 60 Tests		74.19		59.49		
522-DWF6-12	Kit contains 12 Sets of 6 tests = 72 Tests		83.99		66.49		
522-DWF6-15	Kit contains 15 Sets of 6 tests = 90 Tests		98.69		77.09		
522-DWF6-18	Kit contains 18 Sets of 6 tests = 108 Tests		113.39		88.59		
522-DWF6-21	Kit contains 21 Sets of 6 tests = 126 Tests		128.09		100.09		
522-DWF6-24	Kit contains 24 Sets of 6 tests = 144 Tests		142.79		108.69		
522-DWF6-27	Kit contains 27 Sets of 6 tests = 162 Tests		157.49		119.79		
522-DWF6-30	Kit contains 30 Sets of 6 tests = 180 Tests		172.19		130.99		
522-DWF6-33	Kit contains 33 Sets of 6 tests = 198 Tests		186.89		142.19		

			List		Online		
SKU	524 - Compare Drinking and Bottle Water - Beginner	Qty	Price	Savings	Price	SubTotal	Kits Total
524-DvsB5-2	Student Kit:2 Sets of 5 tests = 10 Tests		21.99		18.59		
524-DvsB5-3	Student Kit:3 Sets of 5 tests = 15 Tests		23.99		20.09		
524-DvsB5-4	Student Kit:4 Sets of 5 tests = 20 Tests		25.99		21.49		
524-DvsB5-6	Student Kit:6 Sets of 5 tests = 30 Tests		30.79		25.09		
524-DvsB5-8	Student Kit:8 Sets of 5 tests = 40 Tests		34.89		28.39		
524-DvsB5-9	Student Kit:9 Sets of 5 tests = 45 Tests		36.89		29.69		
524-DvsB5-10	Student Kit:10 Sets of 5 tests = 50 Tests		38.99		31.29		
524-DvsB5-12	Student Kit:12 Sets of 5 tests = 60 Tests		43.09		34.19		
524-DvsB5-15	Student Kit:15 Sets of 5 tests = 75 Tests		49.19		38.49		
524-DvsB5-18	Student Kit:18 Sets of 5 tests = 90 Tests		55.39		43.39		
524-DvsB5-21	Student Kit:21 Sets of 5 tests = 105 Tests		61.49		48.09		
524-DvsB5-24	Student Kit:24 Sets of 5 tests = 120 Tests		67.69		51.59		
524-DvsB5-27	Student Kit:27 Sets of 5 tests = 135 Tests		73.79		56.19		
524-DvsB5-30	Student Kit:30 Sets of 5 tests = 150 Tests		79.99		60.89		
524-DvsB5-33	Student Kit:33 Sets of 5 tests = 165 Tests		86.09		65.59		
SKU	526 - Compare Drinking and Bottle Water - Advanced	Qty	Price	Savings	Price	SubTotal	Kits Total
526-AdDvsB7-2	Kit contains 2 Sets of 7 tests = 14 Tests		38.99		32.89		
526-AdDvsB7-3	Kit contains 3 Sets of 7 tests = 21 Tests		43.99		36.69		
526-AdDvsB7-4	Kit contains 4 Sets of 7 tests = 28 Tests		47.99		39.49		
526-AdDvsB7-6	Kit contains 6 Sets of 7 tests = 42 Tests		57.89		46.99		
526-AdDvsB7-8	Kit contains 8 Sets of 7 tests = 56 Tests		66.79		54.19		
526-AdDvsB7-9	Kit contains 9 Sets of 7 tests = 63 Tests		71.29		57.19		
526-AdDvsB7-10	Kit contains 10 Sets of 7 tests = 70 Tests		75.79		60.79		
526-AdDvsB7-12	Kit contains 12 Sets of 7 tests = 84 Tests		84.79		67.09		
526-AdDvsB7-15	Kit contains 15 Sets of 7 tests = 105 Tests		98.29		76.79		
526-AdDvsB7-18	Kit contains 18 Sets of 7 tests = 126 Tests		111.69		87.29		
526-AdDvsB7-21	Kit contains 21 Sets of 7 tests = 147 Tests		125.19		97.79		
526-AdDvsB7-24	Kit contains 24 Sets of 7 tests = 168 Tests		138.69		105.59		
526-AdDvsB7-27	Kit contains 27 Sets of 7 tests = 189 Tests		152.19		115.79		
526-AdDvsB7-30	Kit contains 30 Sets of 7 tests = 210 Tests		165.59		125.99		
526-AdDvsB7-33	Kit contains 33 Sets of 7 tests = 231 Tests		179.09		136.29		
SKU	532 - EPA Free Chlorine in Drinking Water	Qty	Price	Savings	Price	SubTotal	Kits Total
532-EPACI3-2	Kit contains 2 Sets of 3 tests = 6 Tests		21.99		18.59		
532-EPACI3-3	Kit contains 3 Sets of 3 tests = 9 Tests		23.99		20.09		
532-EPACI3-4	Kit contains 4 Sets of 3 tests = 12 Tests		26.99		22.29		
532-EPACI3-6	Kit contains 6 Sets of 3 tests = 18 Tests		31.29		25.49		
532-EPACI3-8	Kit contains 8 Sets of 3 tests = 24 Tests		35.59		28.99		
532-EPACI3-9	Kit contains 9 Sets of 3 tests = 27 Tests		37.79		30.39		
532-EPACI3-10	Kit contains 10 Sets of 3 tests = 30 Tests		39.89		32.09		
532-EPACI3-12	Kit contains 12 Sets of 3 tests = 36 Tests		44.19		35.09		
532-EPACI3-15	Kit contains 15 Sets of 3 tests = 45 Tests		50.59		39.59		
532-EPACI3-18	Kit contains 18 Sets of 3 tests = 54 Tests		56.99		44.59		
532-EPACI3-21	Kit contains 21 Sets of 3 tests = 63 Tests		63.39		49.59		
532-EPACI3-24	Kit contains 24 Sets of 3 tests = 72 Tests		69.89		53.29		
532-EPACI3-27	Kit contains 27 Sets of 3 tests = 81 Tests		76.29		58.09		
532-EPACI3-30	Kit contains 30 Sets of 3 tests = 90 Tests		82.69		62.99		
532-EPACI3-33	Kit contains 33 Sets of 3 tests = 99 Tests		89.09		67.89		

			List		Online		
SKU	534 - Essential Minerals	Qty	Price	Savings	Price	SubTotal	Kits Total
534-EssenMin5-2	Kit contains 2 Sets of 5 tests = 10 Tests		33.99		28.69		
534-EssenMin5-3	Kit contains 3 Sets of 5 tests = 15 Tests		38.99		32.49		
534-EssenMin5-4	Kit contains 4 Sets of 5 tests = 20 Tests		43.99		36.19		
534-EssenMin5-6	Kit contains 6 Sets of 5 tests = 30 Tests		54.79		44.49		
534-EssenMin5-8	Kit contains 8 Sets of 5 tests = 40 Tests		64.79		52.59		
534-EssenMin5-9	Kit contains 9 Sets of 5 tests = 45 Tests		69.79		55.99		
534-EssenMin5-10	Kit contains 10 Sets of 5 tests = 50 Tests		74.79		59.99		
534-EssenMin5-12	Kit contains 12 Sets of 5 tests = 60 Tests		84.69		67.09		
534-EssenMin5-15	Kit contains 15 Sets of 5 tests = 75 Tests		99.69		77.89		
534-EssenMin5-18	Kit contains 18 Sets of 5 tests = 90 Tests		114.69		89.59		
534-EssenMin5-21	Kit contains 21 Sets of 5 tests = 105 Tests		129.59		101.19		
534-EssenMin5-24	Kit contains 24 Sets of 5 tests = 120 Tests		144.59		109.99		
534-EssenMin5-27	Kit contains 27 Sets of 5 tests = 135 Tests		159.59		121.39		
534-EssenMin5-30	Kit contains 30 Sets of 5 tests = 150 Tests		174.49		132.79		
534-EssenMin5-33	Kit contains 33 Sets of 5 tests = 165 Tests		189.49		144.19		
SKU	536 - Balanced Minerals	Qty	Price	Savings	Price	SubTotal	Kits Total
536-BalMin7-2	Kit contains 2 Sets of 7 tests = 14 Tests		41.99		35.39		
536-BalMin7-3	Kit contains 3 Sets of 7 tests = 21 Tests		47.99		39.99		
536-BalMin7-4	Kit contains 4 Sets of 7 tests = 28 Tests		52.99		43.59		
536-BalMin7-6	Kit contains 6 Sets of 7 tests = 42 Tests		64.99		52.79		
536-BalMin7-8	Kit contains 8 Sets of 7 tests = 56 Tests		76.19		61.89		
536-BalMin7-9	Kit contains 9 Sets of 7 tests = 63 Tests		81.79		65.59		
536-BalMin7-10	Kit contains 10 Sets of 7 tests = 70 Tests		87.39		70.09		
536-BalMin7-12	Kit contains 12 Sets of 7 tests = 84 Tests		98.69		78.09		
536-BalMin7-15	Kit contains 15 Sets of 7 tests = 105 Tests		115.49		90.19		
536-BalMin7-18	Kit contains 18 Sets of 7 tests = 126 Tests		132.29		103.29		
536-BalMin7-21	Kit contains 21 Sets of 7 tests = 147 Tests		149.19		116.49		
536-BalMin7-24	Kit contains 24 Sets of 7 tests = 168 Tests		165.99		126.29		
536-BalMin7-27	Kit contains 27 Sets of 7 tests = 189 Tests		182.89		139.09		
536-BalMin7-30	Kit contains 30 Sets of 7 tests = 210 Tests		199.69		151.89		
536-BalMin7-33	Kit contains 33 Sets of 7 tests = 231 Tests		216.59		164.79		
SKU	538 - Environmental and Outdoor Water	Qty	Price	Savings	Price	SubTotal	Kits Total
538-Out4-2	Kit contains 2 Sets of 6 tests = 8 Tests		29.99		25.29		
538-Out4-3	Kit contains 3 Sets of 6 tests = 12 Tests		32.99		27.49		
538-Out4-4	Kit contains 4 Sets of 6 tests = 16 Tests		35.99		29.69		
538-Out4-6	Kit contains 6 Sets of 6 tests = 24 Tests		42.89		34.89		
538-Out4-8	Kit contains 8 Sets of 6 tests = 32 Tests		48.99		39.79		
538-Out4-9	Kit contains 9 Sets of 6 tests = 36 Tests		51.99		41.69		
538-Out4-10	Kit contains 10 Sets of 6 tests = 40 Tests		54.99		44.09		
538-Out4-12	Kit contains 12 Sets of 6 tests = 48 Tests		61.09		48.39		
538-Out4-15	Kit contains 15 Sets of 6 tests = 60 Tests		70.29		54.99		
538-Out4-18	Kit contains 18 Sets of 6 tests = 72 Tests		79.39		62.09		
538-Out4-21	Kit contains 21 Sets of 6 tests = 84 Tests		88.49		69.19		
538-Out4-24	Kit contains 24 Sets of 6 tests = 94 Tests		97.69		74.39		
538-Out4-27	Kit contains 27 Sets of 6 tests = 108 Tests		106.79		81.29		
538-Out4-30	Kit contains 30 Sets of 6 tests = 120 Tests		115.89		88.19		
538-Out4-33	Kit contains 33 Sets of 6 tests = 132 Tests		125.09		95.19		1

			List		Online		
SKU	540 - Environmental and Outdoor Water Plus Bacteria	Qty	Price	Savings	Price	SubTotal	Kits Total
540-OutPL5-2	Kit contains 2 Sets of 5 tests = 10 Tests		42.99		36.29		
540-OutPL5-3	Kit contains 3 Sets of 5 tests = 15 Tests		47.99		39.99		
540-OutPL5-4	Kit contains 4 Sets of 5 tests = 20 Tests		53.99		44.39		
540-OutPL5-6	Kit contains 6 Sets of 5 tests = 30 Tests		66.69		54.19		
540-OutPL5-8	Kit contains 8 Sets of 5 tests = 40 Tests		78.49		63.69		
540-OutPL5-9	Kit contains 9 Sets of 5 tests = 45 Tests		84.39		67.69		
540-OutPL5-10	Kit contains 10 Sets of 5 tests = 50 Tests		90.29		72.39		
540-OutPL5-12	Kit contains 12 Sets of 5 tests = 60 Tests		102.09		80.79		
540-OutPL5-15	Kit contains 15 Sets of 5 tests = 75 Tests		119.69		93.49		
540-OutPL5-18	Kit contains 18 Sets of 5 tests = 90 Tests		137.39		107.29		
540-OutPL5-21	Kit contains 21 Sets of 5 tests = 105 Tests		155.09		121.09		
540-OutPL5-24	Kit contains 24 Sets of 5 tests = 120 Tests		172.79		131.49		
540-OutPL5-27	Kit contains 27 Sets of 5 tests = 135 Tests		190.39		144.79		
540-OutPL5-30	Kit contains 30 Sets of 5 tests = 150 Tests		208.09		158.29		
540-OutPL5-33	Kit contains 33 Sets of 5 tests = 165 Tests		225.79		171.79		
SKU	544 - Environmental and Outdoor Water Full Panel and Bacteria	Qty	Price	Savings	Price	SubTotal	Kits Total
544-OutFull10-2	Kit contains 2 Sets of 10 tests = 20 Tests		75.99		63.99		
544-OutFull10-3	Kit contains 3 Sets of 10 tests = 30 Tests		85.99		71.49		
544-OutFull10-4	Kit contains 4 Sets of 10 tests = 40 Tests		95.99		78.89		
544-OutFull10-6	Kit contains 6 Sets of 10 tests = 60 Tests		116.49		94.49		
544-OutFull10-8	Kit contains 8 Sets of 10 tests = 80 Tests		136.59		110.79		
544-OutFull10-9	Kit contains 9 Sets of 10 tests = 90 Tests		146.69		117.49		
544-OutFull10-10	Kit contains 10 Sets of 10 tests = 100 Tests		156.69		125.49		
544-OutFull10-12	Kit contains 12 Sets of 10 tests = 120 Tests		176.79		139.79		
544-OutFull10-15	Kit contains 15 Sets of 10 tests = 150 Tests		206.89		161.49		
544-OutFull10-18	Kit contains 18 Sets of 10 tests = 180 Tests		237.09		185.09		
544-OutFull10-21	Kit contains 21 Sets of 10 tests = 210 Tests		267.19		208.59		
544-OutFull10-24	Kit contains 24 Sets of 10 tests = 240 Tests		297.29		226.09		
544-OutFull10-27	Kit contains 27 Sets of 10 tests = 270 Tests		327.49		248.99		
544-OutFull10-30	Kit contains 30 Sets of 10 tests = 300 Tests		357.59		271.89		
544-OutFull10-33	Kit contains 33 Sets of 10 tests = 330 Tests		387.69		294.79		
SKU	550 - Aquatic and Algae Growth Nutrients	Qty	Price	Savings	Price	SubTotal	Kits Total
550-AqNutrnt5-2	Kit contains 2 Sets of 5 tests = 10 Tests		23.99		20.29		
550-AqNutrnt5-3	Kit contains 3 Sets of 5 tests = 15 Tests		26.99		22.59		
550-AqNutrnt5-4	Kit contains 4 Sets of 5 tests = 20 Tests		29.99		24.69		
550-AqNutrnt5-6	Kit contains 6 Sets of 5 tests = 30 Tests		35.99		29.29		
550-AqNutrnt5-8	Kit contains 8 Sets of 5 tests = 40 Tests		41.79		33.99		
550-AqNutrnt5-9	Kit contains 9 Sets of 5 tests = 45 Tests		44.69		35.89		
550-AqNutrnt5-10	Kit contains 10 Sets of 5 tests = 50 Tests		47.59		38.19		
550-AqNutrnt5-12	Kit contains 12 Sets of 5 tests = 60 Tests		53.29		42.19		
550-AqNutrnt5-15	Kit contains 15 Sets of 5 tests = 75 Tests		61.99		48.49		
550-AqNutrnt5-18	Kit contains 18 Sets of 5 tests = 90 Tests		70.59		55.19		
550-AqNutrnt5-21	Kit contains 21 Sets of 5 tests = 105 Tests		79.19		61.89		
550-AqNutrnt5-24	Kit contains 24 Sets of 5 tests = 120 Tests		87.89		66.89		
550-AqNutrnt5-27	Kit contains 27 Sets of 5 tests = 135 Tests		96.49		73.49		
550-AqNutrnt5-30	Kit contains 30 Sets of 5 tests = 150 Tests		105.19		80.09		
550-AqNutrnt5-33	Kit contains 33 Sets of 5 tests = 165 Tests		113.79		86.59		

			List		Online		
SKU	552 - Lake, Pond and River Essential Minerals	Qty	Price	Savings	Price	SubTotal	Kits Total
552-LakeRivMin5-2	Kit contains 2 Sets of 5 tests = 10 Tests		34.99		29.49		
552-LakeRivMin5-3	Kit contains 3 Sets of 5 tests = 15 Tests		39.99		33.29		
552-LakeRivMin5-4	Kit contains 4 Sets of 5 tests = 20 Tests		44.99		36.99		
552-LakeRivMin5-6	Kit contains 6 Sets of 5 tests = 30 Tests		55.19		44.89		
552-LakeRivMin5-8	Kit contains 8 Sets of 5 tests = 40 Tests		65.19		52.99		
552-LakeRivMin5-9	Kit contains 9 Sets of 5 tests = 45 Tests		70.19		56.29		
552-LakeRivMin5-10	Kit contains 10 Sets of 5 tests = 50 Tests		75.09		60.19		
552-LakeRivMin5-12	Kit contains 12 Sets of 5 tests = 60 Tests		85.09		67.39		
552-LakeRivMin5-15	Kit contains 15 Sets of 5 tests = 75 Tests		100.09		78.19		
552-LakeRivMin5-18	Kit contains 18 Sets of 5 tests = 90 Tests		114.99		89.79		
552-LakeRivMin5-21	Kit contains 21 Sets of 5 tests = 105 Tests		129.99		101.49		
552-LakeRivMin5-24	Kit contains 24 Sets of 5 tests = 120 Tests		144.99		110.29		
552-LakeRivMin5-27	Kit contains 27 Sets of 5 tests = 135 Tests		159.89		121.69		
552-LakeRivMin5-30	Kit contains 30 Sets of 5 tests = 150 Tests		174.89		133.09		
552-LakeRivMin5-33	Kit contains 33 Sets of 5 tests = 165 Tests		189.89		144.49		
SKU	556 - Minerals and Nutrients Water Panel	Qty	Price	Savings	Price	SubTotal	Kits Total
556-MinNut8-2	Kit contains 2 Sets of 8 tests = 16 Tests		47.99		40.49		
556-MinNut8-3	Kit contains 3 Sets of 8 tests = 24 Tests		53.99		44.99		
556-MinNut8-4	Kit contains 4 Sets of 8 tests = 32 Tests		59.99		49.29		
556-MinNut8-6	Kit contains 6 Sets of 8 tests = 48 Tests		71.39		57.99		
556-MinNut8-8	Kit contains 8 Sets of 8 tests = 64 Tests		82.59		66.99		
556-MinNut8-9	Kit contains 9 Sets of 8 tests = 72 Tests		88.29		70.79		
556-MinNut8-10	Kit contains 10 Sets of 8 tests = 80 Tests		93.89		75.29		
556-MinNut8-12	Kit contains 12 Sets of 8 tests = 96 Tests		105.09		83.19		
556-MinNut8-15	Kit contains 15 Sets of 8 tests = 120 Tests		121.89		95.19		
556-MinNut8-18	Kit contains 18 Sets of 8 tests = 144 Tests		138.79		108.39		
556-MinNut8-21	Kit contains 21 Sets of 8 tests = 168 Tests		155.59		121.49		
556-MinNut8-24	Kit contains 24 Sets of 8 tests = 192 Tests		172.49		131.19		
556-MinNut8-27	Kit contains 27 Sets of 8 tests = 216 Tests		189.29		143.99		
556-MinNut8-30	Kit contains 30 Sets of 8 tests = 240 Tests		206.19		156.89		
556-MinNut8-33	Kit contains 33 Sets of 8 tests = 264 Tests		222.99		169.59		
SKU	562 - Salt - Brackish - Estuary Water	Qty	Price	Savings	Price	SubTotal	Kits Total
562-SalinitypH2-2	Kit contains 2 Sets of 2 tests = 4 Tests		15.99		13.59		
562-SalinitypH2-3	Kit contains 3 Sets of 2 tests = 6 Tests		17.99		15.09		
562-SalinitypH2-4	Kit contains 4 Sets of 2 tests = 8 Tests		18.99		15.69		
562-SalinitypH2-6	Kit contains 6 Sets of 2 tests = 12 Tests		22.89		18.69		
562-SalinitypH2-8	Kit contains 8 Sets of 2 tests = 16 Tests		25.99		21.19		
562-SalinitypH2-9	Kit contains 9 Sets of 2 tests = 18 Tests		27.59		22.19		
562-SalinitypH2-10	Kit contains 10 Sets of 2 tests = 20 Tests		29.19		23.49		
562-SalinitypH2-12	Kit contains 12 Sets of 2 tests = 24 Tests		32.39		25.69		
562-SalinitypH2-15	Kit contains 15 Sets of 2 tests = 30 Tests		37.09		29.09		
562-SalinitypH2-18	Kit contains 18 Sets of 2 tests = 36 Tests		41.89		32.79		
562-SalinitypH2-21	Kit contains 21 Sets of 2 tests = 42 Tests		46.69		36.59		
562-SalinitypH2-24	Kit contains 24 Sets of 2 tests = 48 Tests		51.39		39.19		
562-SalinitypH2-27	Kit contains 27 Sets of 2 tests = 54 Tests		56.19		42.89		
562-SalinitypH2-30	Kit contains 30 Sets of 2 tests = 60 Tests		60.89		46.39		
562-SalinitypH2-33	Kit contains 33 Sets of 2 tests = 66 Tests		65.69		50.09		

			List		Online		
SKU	564 - Plant Growth Nutrients	Qty	Price	Savings	Price	SubTotal	Kits Total
564-PlntGrth5-2	Kit contains 2 Sets of 5 tests = 10 Tests		30.99		26.19		
564-PlntGrth5-3	Kit contains 3 Sets of 5 tests = 15 Tests		34.99		29.19		
564-PlntGrth5-4	Kit contains 4 Sets of 5 tests = 20 Tests		37.99		31.29		
564-PlntGrth5-6	Kit contains 6 Sets of 5 tests = 30 Tests		45.69		37.19		
564-PlntGrth5-8	Kit contains 8 Sets of 5 tests = 40 Tests		52.59		42.69		
564-PlntGrth5-9	Kit contains 9 Sets of 5 tests = 45 Tests		56.09		44.99		
564-PlntGrth5-10	Kit contains 10 Sets of 5 tests = 50 Tests		59.59		47.79		
564-PlntGrth5-12	Kit contains 12 Sets of 5 tests = 60 Tests		66.59		52.79		
564-PlntGrth5-15	Kit contains 15 Sets of 5 tests = 75 Tests		76.99		60.19		
564-PlntGrth5-18	Kit contains 18 Sets of 5 tests = 90 Tests		87.49		68.39		
564-PlntGrth5-21	Kit contains 21 Sets of 5 tests = 105 Tests		97.89		76.49		
564-PlntGrth5-24	Kit contains 24 Sets of 5 tests = 120 Tests		108.39		82.49		
564-PlntGrth5-27	Kit contains 27 Sets of 5 tests = 135 Tests		118.79		90.39		
564-PlntGrth5-30	Kit contains 30 Sets of 5 tests = 150 Tests		129.29		98.39		
564-PlntGrth5-33	Kit contains 33 Sets of 5 tests = 165 Tests		139.69		106.29		
SKU	566 - Plant Growth Nutrients Plus Bacteria Growth	Qty	Price	Savings	Price	SubTotal	Kits Total
566-PIntGrthBact6-2	Kit contains 2 Sets of 6 tests = 12 Tests		43.99		37.09		
566-PlntGrthBact6-3	Kit contains 3 Sets of 6 tests = 18 Tests		49.99		41.59		
566-PlntGrthBact6-4	Kit contains 4 Sets of 6 tests = 24 Tests		55.99		46.09		
566-PlntGrthBact6-6	Kit contains 6 Sets of 6 tests = 36 Tests		69.49		56.39		
566-PlntGrthBact6-8	Kit contains 8 Sets of 6 tests = 48 Tests		82.19		66.69		
566-PlntGrthBact6-9	Kit contains 9 Sets of 6 tests = 54 Tests		88.49		70.89		
566-PIntGrthBact6-10	Kit contains 10 Sets of 6 tests = 60 Tests		94.79		75.99		
566-PIntGrthBact6-12	Kit contains 12 Sets of 6 tests = 72 Tests		107.49		85.09		
566-PIntGrthBact6-15	Kit contains 15 Sets of 6 tests = 90 Tests		126.49		98.79		
566-PIntGrthBact6-18	Kit contains 18 Sets of 6 tests = 108 Tests		145.49		113.59		
566-PlntGrthBact6-21	Kit contains 21 Sets of 6 tests = 126 Tests		164.49		128.49		
566-PlntGrthBact6-24	Kit contains 24 Sets of 6 tests = 144 Tests		183.49		139.59		
566-PlntGrthBact6-27	Kit contains 27 Sets of 6 tests = 162 Tests		202.49		153.99		
566-PIntGrthBact6-30	Kit contains 30 Sets of 6 tests = 180 Tests		221.49		168.49		
566-PlntGrthBact6-33	Kit contains 33 Sets of 6 tests = 198 Tests		240.39		182.79		
SKU	568 - Cooking Vegetables in Water	Qty	Price	Savings	Price	SubTotal	Kits Total
568-CookVeg6-2	Kit contains 2 Sets of 6 tests = 12 Tests		39.99		33.69		
568-CookVeg6-3	Kit contains 3 Sets of 6 tests = 18 Tests		43.99		36.69		
568-CookVeg6-4	Kit contains 4 Sets of 6 tests = 24 Tests		48.99		40.29		
568-CookVeg6-6	Kit contains 6 Sets of 6 tests = 36 Tests		58.39		47.39		
568-CookVeg6-8	Kit contains 8 Sets of 6 tests = 48 Tests		67.59		54.89		
568-CookVeg6-9	Kit contains 9 Sets of 6 tests = 40 Tests		72.19		57.89		
568-CookVeg6-10	Kit contains 10 Sets of 6 tests = 60 Tests	1	76.79		61.59		
568-CookVeg6-10	Kit contains 12 Sets of 6 tests = 72 Tests	1	85.89		67.99		
568-CookVeg6-12	Kit contains 12 Sets of 6 tests = 72 Tests Kit contains 15 Sets of 6 tests = 90 Tests	+	99.69		77.89		
568-CookVeg6-15	Kit contains 18 Sets of 6 tests = 90 Tests	+	113.39		88.59		
568-CookVeg6-18	Kit contains 21 Sets of 6 tests = 106 Tests	-	127.09		99.29		
-	Kit contains 21 Sets of 6 tests = 126 Tests	-	127.09		107.19		
568-CookVeg6-24		+					
568-CookVeg6-27	Kit contains 27 Sets of 6 tests = 162 Tests	+	154.59		117.59		
568-CookVeg6-30	Kit contains 30 Sets of 6 tests = 180 Tests	-	168.39		128.09		
568-CookVeg6-33	Kit contains 33 Sets of 6 tests = 198 Tests	1	182.09		138.49		

			List		Online		
SKU	572 - Washing Fruits and Vegetables	Qty	Price	Savings	Price	SubTotal	Kits Total
572-WashFruit6-2	Kit contains 2 Sets of 6 tests = 12 Tests		43.99		37.09		
572-WashFruit6-3	Kit contains 3 Sets of 6 tests = 18 Tests		49.99		41.59		
572-WashFruit6-4	Kit contains 4 Sets of 6 tests = 24 Tests		55.99		46.09		
572-WashFruit6-6	Kit contains 6 Sets of 6 tests = 36 Tests		69.19		56.19		
572-WashFruit6-8	Kit contains 8 Sets of 6 tests = 48 Tests		81.79		66.39		
572-WashFruit6-9	Kit contains 9 Sets of 6 tests = 54 Tests		88.09		70.59		
572-WashFruit6-10	Kit contains 10 Sets of 6 tests = 60 Tests		94.39		75.69		
572-WashFruit6-12	Kit contains 12 Sets of 6 tests = 72 Tests		106.99		84.69		
572-WashFruit6-15	Kit contains 15 Sets of 6 tests = 90 Tests		125.89		98.29		
572-WashFruit6-18	Kit contains 18 Sets of 6 tests = 108 Tests		144.69		112.99		
572-WashFruit6-21	Kit contains 21 Sets of 6 tests = 126 Tests		163.59		127.79		
572-WashFruit6-24	Kit contains 24 Sets of 6 tests = 144 Tests		182.49		138.79		
572-WashFruit6-27	Kit contains 27 Sets of 6 tests = 162 Tests		201.29		153.09		
572-WashFruit6-30	Kit contains 30 Sets of 6 tests = 180 Tests		220.19		167.49		
572-WashFruit6-33	Kit contains 33 Sets of 6 tests = 198 Tests		239.09		181.89		
SKU	576 - Compare Juice Soda Pop and Milk	Qty	Price	Savings	Price	SubTotal	Kits Total
576-Juice4-2	Kit contains 2 Sets of 4 tests = 8 Tests		29.99		25.29		
576-Juice4-3	Kit contains 3 Sets of 4 tests = 12 Tests		32.99		27.49		
576-Juice4-4	Kit contains 4 Sets of 4 tests = 16 Tests		35.99		29.69		
576-Juice4-6	Kit contains 6 Sets of 4 tests = 24 Tests		42.89		34.89		
576-Juice4-8	Kit contains 8 Sets of 4 tests = 32 Tests		48.99		39.79		
576-Juice4-9	Kit contains 9 Sets of 4 tests = 36 Tests		51.99		41.69		
576-Juice4-10	Kit contains 10 Sets of 4 tests = 40 Tests		54.99		44.09		
576-Juice4-12	Kit contains 12 Sets of 4 tests = 48 Tests		61.09		48.39		
576-Juice4-15	Kit contains 15 Sets of 4 tests = 60 Tests		70.29		54.99		
576-Juice4-18	Kit contains 18 Sets of 4 tests = 72 Tests		79.39		62.09		
576-Juice4-21	Kit contains 21 Sets of 4 tests = 84 Tests		88.49		69.19		
576-Juice4-24	Kit contains 24 Sets of 4 tests = 94 Tests		97.69		74.39		
576-Juice4-27	Kit contains 27 Sets of 4 tests = 108 Tests		106.79		81.29		
576-Juice4-30	Kit contains 30 Sets of 4 tests = 120 Tests		115.89		88.19		
576-Juice4-33	Kit contains 33 Sets of 4 tests = 132 Tests		125.09		95.19		
SKU	578 - Checking Pet Drinking Water Bowl	Qty	Price	Savings	Price	SubTotal	Kits Total
578-PetBowl5-2	Kit contains 2 Sets of 5 tests = 10 Tests	Q(y	34.99	Savings	29.49	SubTotal	
578-PetBowl5-3	Kit contains 3 Sets of 5 tests = 15 Tests		39.99		33.29		
578-PetBowl5-4	Kit contains 3 Sets of 5 tests = 20 Tests		44.99		36.99		
578-PetBowl5-6	Kit contains 4 Sets of 5 tests = 20 Tests		55.19		44.89		
578-PetBowl5-8	Kit contains 8 Sets of 5 tests = 40 Tests		65.19		52.99		
578-PetBowl5-9	Kit contains 9 Sets of 5 tests = 40 Tests		70.19		56.29		
578-PetBowl5-10	Kit contains 10 Sets of 5 tests = 50 Tests		75.09		60.19		
			85.09		67.39		
578-PetBowl5-12	Kit contains 12 Sets of 5 tests = 60 Tests Kit contains 15 Sets of 5 tests = 75 Tests		100.09		78.19		
578-PetBowl5-15					89.79		
578-PetBowl5-18	Kit contains 18 Sets of 5 tests = 90 Tests		114.99				
578-PetBowl5-21	Kit contains 21 Sets of 5 tests = 105 Tests		129.99		101.49		
578-PetBowl5-24	Kit contains 24 Sets of 5 tests = 120 Tests		144.99		110.29		
578-PetBowl5-27	Kit contains 27 Sets of 5 tests = 135 Tests		159.89		121.69		
578-PetBowl5-30	Kit contains 30 Sets of 5 tests = 150 Tests		174.89		133.09		
578-PetBowl5-33	Kit contains 33 Sets of 5 tests = 165 Tests		189.89		144.49		

			List		Online		
SKU	580 - Copper Pipe Corrosion and Acidic Water	Qty	Price	Savings	Price	SubTotal	Kits Total
580-MetCupH2-2	Kit contains 2 Sets of 2 tests = 4 Tests		15.99		13.59		
580-MetCupH2-3	Kit contains 3 Sets of 2 tests = 6 Tests		18.99		15.89		
580-MetCupH2-4	Kit contains 4 Sets of 2 tests = 8 Tests		20.99		17.39		
580-MetCupH2-6	Kit contains 6 Sets of 2 tests = 12 Tests		25.69		20.99		
580-MetCupH2-8	Kit contains 8 Sets of 2 tests = 16 Tests		29.99		24.39		
580-MetCupH2-9	Kit contains 9 Sets of 2 tests = 18 Tests		32.19		25.89		
580-MetCupH2-10	Kit contains 10 Sets of 2 tests = 20 Tests		34.29		27.59		
580-MetCupH2-12	Kit contains 12 Sets of 2 tests = 24 Tests		38.69		30.69		
580-MetCupH2-15	Kit contains 15 Sets of 2 tests = 30 Tests		45.19		35.39		
580-MetCupH2-18	Kit contains 18 Sets of 2 tests = 36 Tests		51.69		40.49		
580-MetCupH2-21	Kit contains 21 Sets of 2 tests = 42 Tests		58.09		45.49		
580-MetCupH2-24	Kit contains 24 Sets of 2 tests = 48 Tests		64.59		49.19		
580-MetCupH2-27	Kit contains 27 Sets of 2 tests = 54 Tests		71.09		54.19		
580-MetCupH2-30	Kit contains 30 Sets of 2 tests = 60 Tests		77.59		59.09		
580-MetCupH2-33	Kit contains 33 Sets of 2 tests = 66 Tests		84.09		64.09		
SKU	582 - Metal Pipe Contamination	Qty	Price	Savings	Price	SubTotal	Kits Total
582-MetPipe4-2	Kit contains 2 Sets of 4 tests = 8 Tests		33.99		28.69		
582-MetPipe4-3	Kit contains 3 Sets of 4 tests = 12 Tests		38.99		32.49		
582-MetPipe4-4	Kit contains 4 Sets of 4 tests = 16 Tests		42.99		35.39		
582-MetPipe4-6	Kit contains 6 Sets of 4 tests = 24 Tests		53.19		43.19		
582-MetPipe4-8	Kit contains 8 Sets of 4 tests = 32 Tests		62.49		50.79		
582-MetPipe4-9	Kit contains 9 Sets of 4 tests = 36 Tests		67.19		53.89		
582-MetPipe4-10	Kit contains 10 Sets of 4 tests = 40 Tests		71.89		57.69		
582-MetPipe4-12	Kit contains 12 Sets of 4 tests = 48 Tests		81.19		64.29		
582-MetPipe4-15	Kit contains 15 Sets of 4 tests = 60 Tests		95.19		74.39		
582-MetPipe4-18	Kit contains 18 Sets of 4 tests = 72 Tests		109.19		85.29		
582-MetPipe4-21	Kit contains 21 Sets of 4 tests = 84 Tests		123.19		96.19		
582-MetPipe4-24	Kit contains 24 Sets of 4 tests = 94 Tests		137.19		104.39		
582-MetPipe4-27	Kit contains 27 Sets of 4 tests = 108 Tests		151.19		115.09		
582-MetPipe4-30	Kit contains 30 Sets of 4 tests = 120 Tests		165.29		125.79		
582-MetPipe4-33	Kit contains 33 Sets of 4 tests = 132 Tests		179.29		136.39		
SKU	584 - Dissolved Metals and pH in Water	Qty	Price	Savings	Price	SubTotal	Kits Total
584-DisMetpH2-2	Kit contains 2 Sets of 2 tests = 4 Tests		14.99		12.69		
584-DisMetpH2-3	Kit contains 3 Sets of 2 tests = 6 Tests		16.99		14.29		
584-DisMetpH2-4	Kit contains 4 Sets of 2 tests = 8 Tests		18.99		15.69		
584-DisMetpH2-6	Kit contains 6 Sets of 2 tests = 12 Tests		22.79		18.59		
584-DisMetpH2-8	Kit contains 8 Sets of 2 tests = 16 Tests		26.19		21.39		
584-DisMetpH2-9	Kit contains 9 Sets of 2 tests = 18 Tests		27.89		22.49		
584-DisMetpH2-10	Kit contains 10 Sets of 2 tests = 20 Tests		29.59		23.79		
584-DisMetpH2-12	Kit contains 12 Sets of 2 tests = 24 Tests		32.99		26.19		
584-DisMetpH2-15	Kit contains 15 Sets of 2 tests = 30 Tests		38.19		29.89		
584-DisMetpH2-18	Kit contains 18 Sets of 2 tests = 36 Tests		43.29		33.89		
584-DisMetpH2-21	Kit contains 21 Sets of 2 tests = 42 Tests		48.39		37.89		
584-DisMetpH2-24	Kit contains 24 Sets of 2 tests = 48 Tests		53.49		40.79		
584-DisMetpH2-27	Kit contains 27 Sets of 2 tests = 54 Tests		58.69		44.79		
584-DisMetpH2-30	Kit contains 30 Sets of 2 tests = 60 Tests		63.79		48.59		
584-DisMetpH2-33	Kit contains 33 Sets of 2 tests = 66 Tests		68.89		52.49		

			List		Online		
SKU	588 - Fertilizer Pollution	Qty	Price	Savings	Price	SubTotal	Kits Total
588-FertPol5-2	Kit contains 2 Sets of 5 tests = 10 Tests		23.99		20.29		
588-FertPol5-3	Kit contains 3 Sets of 5 tests = 15 Tests		26.99		22.59		
588-FertPol5-4	Kit contains 4 Sets of 5 tests = 20 Tests		29.99		24.69		
588-FertPol5-6	Kit contains 6 Sets of 5 tests = 30 Tests		35.99		29.29		
588-FertPol5-8	Kit contains 8 Sets of 5 tests = 40 Tests		41.79		33.99		
588-FertPol5-9	Kit contains 9 Sets of 5 tests = 45 Tests		44.69		35.89		
588-FertPol5-10	Kit contains 10 Sets of 5 tests = 50 Tests		47.59		38.19		
588-FertPol5-12	Kit contains 12 Sets of 5 tests = 60 Tests		53.29		42.19		
588-FertPol5-15	Kit contains 15 Sets of 5 tests = 75 Tests		61.99		48.49		
588-FertPol5-18	Kit contains 18 Sets of 5 tests = 90 Tests		70.59		55.19		
588-FertPol5-21	Kit contains 21 Sets of 5 tests = 105 Tests		79.19		61.89		
588-FertPol5-24	Kit contains 24 Sets of 5 tests = 120 Tests		87.89		66.89		
588-FertPol5-27	Kit contains 27 Sets of 5 tests = 135 Tests		96.49		73.49		
588-FertPol5-30	Kit contains 30 Sets of 5 tests = 150 Tests		105.19		80.09		
588-FertPol5-33	Kit contains 33 Sets of 5 tests = 165 Tests		113.79		86.59		
SKU	590 - Effects of Water Quality on Paper Making	Qty	Price	Savings	Price	SubTotal	Kits Total
590-Paper6-2	Kit contains 2 Sets of 6 tests = 12 Tests		37.99		32.09		
590-Paper6-3	Kit contains 3 Sets of 6 tests = 18 Tests		41.99		34.99		
590-Paper6-4	Kit contains 4 Sets of 6 tests = 24 Tests		45.99		37.89		
590-Paper6-6	Kit contains 6 Sets of 6 tests = 36 Tests		54.49		44.29		
590-Paper6-8	Kit contains 8 Sets of 6 tests = 48 Tests		62.39		50.69		
590-Paper6-9	Kit contains 9 Sets of 6 tests = 54 Tests		66.29		53.19		
590-Paper6-10	Kit contains 10 Sets of 6 tests = 60 Tests		70.29		56.39		
590-Paper6-12	Kit contains 12 Sets of 6 tests = 72 Tests		78.19		61.89		
590-Paper6-15	Kit contains 15 Sets of 6 tests = 90 Tests		90.09		70.39		
590-Paper6-18	Kit contains 18 Sets of 6 tests = 108 Tests		101.89		79.59		
590-Paper6-21	Kit contains 21 Sets of 6 tests = 126 Tests		113.79		88.89		
590-Paper6-24	Kit contains 24 Sets of 6 tests = 144 Tests		125.59		95.59		
590-Paper6-27	Kit contains 27 Sets of 6 tests = 162 Tests		137.49		104.59		
590-Paper6-30	Kit contains 30 Sets of 6 tests = 180 Tests		149.39		113.69		
590-Paper6-33	Kit contains 33 Sets of 6 tests = 198 Tests		161.19		122.69		
SKU	594 - Evaluate Water Filter Performance	Qty	Price	Savings	Price	SubTotal	Kits Total
594-FiltPerfm7-2	Kit contains 2 Sets of 7 tests = 14 Tests		45.99		38.79		
594-FiltPerfm7-3	Kit contains 3 Sets of 7 tests = 21 Tests		50.99		42.49		
594-FiltPerfm7-4	Kit contains 4 Sets of 7 tests = 28 Tests		55.99		46.09		
594-FiltPerfm7-6	Kit contains 6 Sets of 7 tests = 42 Tests		66.39		53.89		
594-FiltPerfm7-8	Kit contains 8 Sets of 7 tests = 56 Tests		76.19		61.89		
594-FiltPerfm7-9	Kit contains 9 Sets of 7 tests = 63 Tests		81.09		64.99		
594-FiltPerfm7-10	Kit contains 10 Sets of 7 tests = 70 Tests		85.99		68.89		
594-FiltPerfm7-12	Kit contains 12 Sets of 7 tests = 84 Tests		95.69		75.69		
594-FiltPerfm7-15	Kit contains 15 Sets of 7 tests = 105 Tests		110.39		86.29		
594-FiltPerfm7-18	Kit contains 18 Sets of 7 tests = 126 Tests		125.09		97.69		
594-FiltPerfm7-21	Kit contains 21 Sets of 7 tests = 147 Tests		139.79		109.19		
594-FiltPerfm7-24	Kit contains 24 Sets of 7 tests = 168 Tests		154.39		117.49		
594-FiltPerfm7-27	Kit contains 27 Sets of 7 tests = 189 Tests		169.09		128.69		
594-FiltPerfm7-30	Kit contains 30 Sets of 7 tests = 210 Tests		183.79		139.79		
594-FiltPerfm7-33	Kit contains 33 Sets of 7 tests = 231 Tests	1	198.39		150.89		1

			List		Online		
SKU	100 - Total Water Hardness	Qty	Price	Savings	Price	SubTotal	Kits Total
100-Hrd3	Total Water Hardness - Kit contains 3 Single Tests		9.99		8.39		
100-Hrd4	Total Water Hardness - Kit contains 4 Single Tests		10.99		9.19		
100-Hrd6	Total Water Hardness - Kit contains 6 Single Tests		12.79		10.49		
100-Hrd8	Total Water Hardness - Kit contains 8 Single Tests		14.39		11.79		
100-Hrd9	Total Water Hardness - Kit contains 9 Single Tests		15.29		12.39		
100-Hrd10	Total Water Hardness - Kit contains 10 Single Tests		16.09		12.99		
100-Hrd12	Total Water Hardness - Kit contains 12 Single Tests		17.69		14.09		
100-Hrd15	Total Water Hardness - Kit contains 15 Single Tests		20.09		15.79		
100-Hrd18	Total Water Hardness - Kit contains 18 Single Tests		22.49		17.69		
100-Hrd21	Total Water Hardness - Kit contains 21 Single Tests		24.89		19.59		
100-Hrd24	Total Water Hardness - Kit contains 24 Single Tests		27.29		20.89		
100-Hrd27	Total Water Hardness - Kit contains 27 Single Tests		29.79		22.79		
100-Hrd30	Total Water Hardness - Kit contains 30 Single Tests		32.19		24.59		
100-Hrd33	Total Water Hardness - Kit contains 33 Single Tests		34.59		26.39		
SKU	105 - Total Alkalinity	Qty	Price	Savings	Price	SubTotal	Kits Total
105-AlkH3	Total Alkalinity - Kit contains 3 Single Tests		9.99		8.39		
105-AlkH4	Total Alkalinity - Kit contains 4 Single Tests		10.99		9.19		
105-AlkH6	Total Alkalinity - Kit contains 6 Single Tests		13.19		10.79		
105-AlkH8	Total Alkalinity - Kit contains 8 Single Tests		15.09		12.39		
105-AlkH9	Total Alkalinity - Kit contains 9 Single Tests		15.99		12.89		
105-AlkH10	Total Alkalinity - Kit contains 10 Single Tests		16.89		13.69		
105-AlkH12	Total Alkalinity - Kit contains 12 Single Tests		18.79		14.99		
105-AlkH15	Total Alkalinity - Kit contains 15 Single Tests		21.69		17.09		
105-AlkH18	Total Alkalinity - Kit contains 18 Single Tests		24.49		19.29		
105-AlkH21	Total Alkalinity - Kit contains 21 Single Tests		27.29		21.39		
105-AlkH24	Total Alkalinity - Kit contains 24 Single Tests		30.09		22.99		
105-AlkH27	Total Alkalinity - Kit contains 27 Single Tests		32.99		25.19		
105-AlkH30	Total Alkalinity - Kit contains 30 Single Tests		35.79		27.39		
105-AlkH33	Total Alkalinity - Kit contains 33 Single Tests		38.59		29.49		
SKU	110 - рН	Qty	Price	Savings	Price	SubTotal	Kits Total
110-ph3	pH - Kit contains 3 Single Tests		9.99		8.39		
110-ph4	pH - Kit contains 4 Single Tests		10.99		9.19		
110-ph6	pH - Kit contains 6 Single Tests		13.09		10.79		
110-ph8	pH - Kit contains 8 Single Tests		14.79		12.09		
110-ph9	pH - Kit contains 9 Single Tests		15.69		12.69		
110-ph10	pH - Kit contains 10 Single Tests		16.49		13.29		
110-ph12	pH - Kit contains 12 Single Tests		18.29		14.59		
110-ph15	pH - Kit contains 15 Single Tests		20.89		16.39		
110-ph18	pH - Kit contains 18 Single Tests		23.49		18.49		
110-ph21	pH - Kit contains 21 Single Tests		26.09		20.49		
110-ph24	pH - Kit contains 24 Single Tests		28.69		21.99		
110-ph27	pH - Kit contains 27 Single Tests		31.29		23.89		
110-ph30	pH - Kit contains 30 Single Tests		33.89		25.89		
110-ph33	pH - Kit contains 33 Single Tests		36.49		27.89		

SKU	115 - Total Alkalinity and pH Dual	Qty	List Price	Savings	Online Price	SubTotal	Kits Total
115-AlkITS3	Total Alkalinity and pH - Kit contains 3 Dual Tests	QLY	12.99	Savings	10.89	SubTotal	
115-AlkITS4	Total Alkalinity and pH - Kit contains 5 Dual Tests		12.99		10.89		
115-AlkITS6	Total Alkalinity and pH - Kit contains 4 Dual Tests		16.99		13.89		
	Total Alkalinity and pH - Kit contains 8 Dual Tests		19.39		15.89		
115-AlkITS8			20.59		15.89		
115-AlkITS9	Total Alkalinity and pH - Kit contains 9 Dual Tests						
115-AlkITS10	Total Alkalinity and pH - Kit contains 10 Dual Tests		21.79 24.19		17.59 19.29		
115-AlkITS12	Total Alkalinity and pH - Kit contains 12 Dual Tests		-				
115-AlkITS15	Total Alkalinity and pH - Kit contains 15 Dual Tests		27.69		21.69		
115-AlkITS18	Total Alkalinity and pH - Kit contains 18 Dual Tests		31.29		24.59		
115-AlkITS21	Total Alkalinity and pH - Kit contains 21 Dual Tests		34.89		27.39		
115-AlkITS24	Total Alkalinity and pH - Kit contains 24 Dual Tests		38.49		29.39		
115-AlkITS27	Total Alkalinity and pH - Kit contains 27 Dual Tests		42.09		32.09		
115-AlkITS30	Total Alkalinity and pH - Kit contains 30 Dual Tests		45.59		34.79		
115-AlkITS33	Total Alkalinity and pH - Kit contains 33 Dual Tests		49.19		37.49		
SKU	120 - EPA Free Chlorine	Qty	Price	Savings	Price	SubTotal	Kits Total
120-FCL3	Free Chlorine - Kit contains 3 Single Tests		11.99		10.09		
120-FCL4	Free Chlorine - Kit contains 4 Single Tests		12.99		10.79		
120-FCL6	Free Chlorine - Kit contains 6 Single Tests		16.19		13.29		
120-FCL8	Free Chlorine - Kit contains 8 Single Tests		18.89		15.49		
120-FCL9	Free Chlorine - Kit contains 9 Single Tests		20.19		16.29		
120-FCL10	Free Chlorine - Kit contains 10 Single Tests		21.59		17.39		
120-FCL12	Free Chlorine - Kit contains 12 Single Tests		24.29		19.29		
120-FCL15	Free Chlorine - Kit contains 15 Single Tests		28.29		22.19		
120-FCL18	Free Chlorine - Kit contains 18 Single Tests		32.29		25.29		
120-FCL21	Free Chlorine - Kit contains 21 Single Tests		36.39		28.49		
120-FCL24	Free Chlorine - Kit contains 24 Single Tests		40.39		30.79		
120-FCL27	Free Chlorine - Kit contains 27 Single Tests		44.39		33.89		
120-FCL30	Free Chlorine - Kit contains 30 Single Tests		48.49		36.99		
120-FCL33	Free Chlorine - Kit contains 33 Single Tests		52.49		39.99		
SKU	125 - Total Chlorine	Qty	Price	Savings	Price	SubTotal	Kits Total
125-TCL3	Total Chlorine - Kit contains 3 Single Tests		11.99		10.09		
125-TCL4	Total Chlorine - Kit contains 4 Single Tests		12.99		10.79		
125-TCL6	Total Chlorine - Kit contains 6 Single Tests		16.19		13.29		
125-TCL8	Total Chlorine - Kit contains 8 Single Tests		18.89		15.49		
125-TCL9	Total Chlorine - Kit contains 9 Single Tests		20.19		16.29		
125-TCL10	Total Chlorine - Kit contains 10 Single Tests		21.59		17.39		
125-TCL12	Total Chlorine - Kit contains 12 Single Tests		24.29		19.29		
125-TCL15	Total Chlorine - Kit contains 15 Single Tests		28.29		22.19		
125-TCL18	Total Chlorine - Kit contains 18 Single Tests		32.29		25.29		
125-TCL21	Total Chlorine - Kit contains 21 Single Tests		36.39		28.49		
125-TCL24	Total Chlorine - Kit contains 24 Single Tests		40.39		30.79		
125-TCL27	Total Chlorine - Kit contains 27 Single Tests		44.39		33.89		
125-TCL30	Total Chlorine - Kit contains 30 Single Tests		48.49		36.99		
125-TCL33	Total Chlorine - Kit contains 33 Single Tests		52.49		39.99		

SKU	130 - Total Chlorine and Free Chlorine Dual	Qty	List Price	Savings	Online Price	SubTotal	Kits Total
130-FTCL3	Total Chlorine and Free Chlorine - Kit contains 3 Dual Tests	-	13.99	ournigo	11.79	oubrotur	
130-FTCL4	Total Chlorine and Free Chlorine - Kit contains 4 Dual Tests		14.99		12.39		
130-FTCL6	Total Chlorine and Free Chlorine - Kit contains 6 Dual Tests		18.79		15.39		
130-FTCL8	Total Chlorine and Free Chlorine - Kit contains 8 Dual Tests		21.89		17.89		
130-FTCL9	Total Chlorine and Free Chlorine - Kit contains 9 Dual Tests		23.39		18.89		
130-FTCL10	Total Chlorine and Free Chlorine - Kit contains 10 Dual Tests	-	24.99		20.09		
130-FTCL12	Total Chlorine and Free Chlorine - Kit contains 12 Dual Tests	-	28.09		22.29		
130-FTCL15	Total Chlorine and Free Chlorine - Kit contains 15 Dual Tests		32.79		25.69		
130-FTCL18	Total Chlorine and Free Chlorine - Kit contains 18 Dual Tests		37.49		29.39		
130-FTCL21	Total Chlorine and Free Chlorine - Kit contains 21 Dual Tests		42.19		33.09		
130-FTCL24	Total Chlorine and Free Chlorine - Kit contains 24 Dual Tests		46.89		35.79		
130-FTCL27	Total Chlorine and Free Chlorine - Kit contains 27 Dual Tests		51.59		39.39		
130-FTCL30	Total Chlorine and Free Chlorine - Kit contains 30 Dual Tests		56.19		42.89		
130-FTCL33	Total Chlorine and Free Chlorine - Kit contains 33 Dual Tests		60.89		46.39		
SKU	135 - Nitrate and Nitrite Dual	Qty	Price	Savings	Price	SubTotal	Kits Total
135-Nit3	Nitrate and Nitrite - Kit contains 3 Dual Tests		12.99		10.89		
L35-Nit4	Nitrate and Nitrite - Kit contains 4 Dual Tests		13.99		11.59		
135-Nit6	Nitrate and Nitrite - Kit contains 6 Dual Tests		17.79		14.59		
L35-Nit7	Nitrate and Nitrite - Kit contains 8 Dual Tests		20.69		16.89		
L35-Nit9	Nitrate and Nitrite - Kit contains 9 Dual Tests		22.09		17.79		
135-Nit10	Nitrate and Nitrite - Kit contains 10 Dual Tests		23.59		18.99		
135-Nit12	Nitrate and Nitrite - Kit contains 12 Dual Tests		26.39		20.99		
135-Nit15	Nitrate and Nitrite - Kit contains 15 Dual Tests		30.69		24.09		
135-Nit18	Nitrate and Nitrite - Kit contains 18 Dual Tests		34.99		27.39		
135-Nit21	Nitrate and Nitrite - Kit contains 21 Dual Tests		39.29		30.79		
135-Nit24	Nitrate and Nitrite - Kit contains 24 Dual Tests		43.59		33.29		
135-Nit27	Nitrate and Nitrite - Kit contains 27 Dual Tests		47.89		36.49		
135-Nit30	Nitrate and Nitrite - Kit contains 30 Dual Tests		52.19		39.79		
135-Nit33	Nitrate and Nitrite - Kit contains 33 Dual Tests		56.49		43.09		
SKU	140 - Dissolved Phosphate	Qty	Price	Savings	Price	SubTotal	Kits Tota
L40PO4H3	Dissolved Phosphate - Kit contains 3 Single Tests		13.99		11.79		
L40-PO4H4	Dissolved Phosphate - Kit contains 4 Single Tests		15.99		13.29		
L40-PO4H6	Dissolved Phosphate - Kit contains 6 Single Tests		20.79		16.99		
L40-PO4H8	Dissolved Phosphate - Kit contains 8 Single Tests		24.79		20.19		
L40-PO4H9	Dissolved Phosphate - Kit contains 9 Single Tests		26.79		21.59		
L40-PO4H10	Dissolved Phosphate - Kit contains 10 Single Tests		28.89		23.29		
40-PO4H12	Dissolved Phosphate - Kit contains 12 Single Tests		32.89		26.09		
40-PO4H15	Dissolved Phosphate - Kit contains 15 Single Tests		38.99		30.59		
L40-PO4H18	Dissolved Phosphate - Kit contains 18 Single Tests		45.09		35.29		
L40-PO4H21	Dissolved Phosphate - Kit contains 21 Single Tests		51.19		40.09		
L40-PO4H24	Dissolved Phosphate - Kit contains 24 Single Tests		57.29		43.69		
140-PO4H27	Dissolved Phosphate - Kit contains 27 Single Tests		63.29		48.29		
140-PO4H30	Dissolved Phosphate - Kit contains 30 Single Tests		69.39		52.89		
140-PO4H33	Dissolved Phosphate - Kit contains 33 Single Tests		75.49		57.49		

SKU	145 - Total Dissolved Solids (TDS)	Qty	List Price	Savings	Online Price	SubTotal	Kits Total
145-TDS3	Total Dissolved Solids - Kit contains 3 Single Tests		12.99		10.89		
145-TDS4	Total Dissolved Solids - Kit contains 4 Single Tests		14.99		12.39		
145-TDS6	Total Dissolved Solids - Kit contains 6 Single Tests		19.59		15.99		
145-TDS8	Total Dissolved Solids - Kit contains 8 Single Tests		23.29		18.99		
145-TDS9	Total Dissolved Solids - Kit contains 9 Single Tests		25.19		20.29		
145-TDS10	Total Dissolved Solids - Kit contains 10 Single Tests		26.99		21.69		
145-TDS12	Total Dissolved Solids - Kit contains 12 Single Tests		30.79		24.49		
145-TDS15	Total Dissolved Solids - Kit contains 15 Single Tests		36.29		28.49		
145-TDS18	Total Dissolved Solids - Kit contains 18 Single Tests		41.89		32.79		
145-TDS21	Total Dissolved Solids - Kit contains 21 Single Tests		47.49		37.19		
145-TDS24	Total Dissolved Solids - Kit contains 24 Single Tests		53.09		40.49		
145-TDS27	Total Dissolved Solids - Kit contains 27 Single Tests		58.59		44.69		
145-TDS30	Total Dissolved Solids - Kit contains 30 Single Tests		64.19		48.89		
145-TDS33	Total Dissolved Solids - Kit contains 33 Single Tests		69.79		53.19		
SKU	150 - Dissolved Metals (Cu, Co, Zn, Cd, Ni, etc.)	Qty	Price	Savings	Price	SubTotal	Kits Total
150-DisMet3	Dissolved Metals - Kit contains 3 Single Tests		13.99		11.79		
150-DisMet4	Dissolved Metals - Kit contains 4 Single Tests		15.99		13.29		
L50-DisMet6	Dissolved Metals - Kit contains 6 Single Tests		20.29		16.59		
L50-DisMet8	Dissolved Metals - Kit contains 8 Single Tests		23.99		19.59		
L50-DisMet9	Dissolved Metals - Kit contains 9 Single Tests		25.79		20.79		
150-DisMet10	Dissolved Metals - Kit contains 10 Single Tests		27.69		22.29		
150-DisMet12	Dissolved Metals - Kit contains 12 Single Tests		31.39		24.89		
150-DisMet15	Dissolved Metals - Kit contains 15 Single Tests		36.89		28.89		
150-DisMet18	Dissolved Metals - Kit contains 18 Single Tests		42.39		33.19		
150-DisMet21	Dissolved Metals - Kit contains 21 Single Tests		47.99		37.59		
150-DisMet24	Dissolved Metals - Kit contains 24 Single Tests		53.49		40.79		
L50-DisMet27	Dissolved Metals - Kit contains 27 Single Tests		58.99		44.99		
150-DisMet30	Dissolved Metals - Kit contains 30 Single Tests		64.59		49.19		
150-DisMet33	Dissolved Metals - Kit contains 33 Single Tests		70.09		53.39		
SKU	155 - Iron 2 (Rusty Colored Deposits / Stains)	Qty	Price	Savings	Price	SubTotal	Kits Total
155-Iron2-3	Iron 2 - Kit contains 3 Single Tests		14.99		12.59		
155-Iron2-4	Iron 2 - Kit contains 3 Single Tests		16.99		14.09		
155-Iron2-6	Iron 2 - Kit contains 3 Single Tests		22.49		18.39		
155-Iron2-8	Iron 2 - Kit contains 3 Single Tests		27.09		22.09		
155-Iron2-9	Iron 2 - Kit contains 3 Single Tests		29.39		23.69		
155-Iron2-10	Iron 2 - Kit contains 3 Single Tests		31.59		25.39		
55-Iron2-12	Iron 2 - Kit contains 3 Single Tests		36.19		28.69		
55-Iron2-15	Iron 2 - Kit contains 3 Single Tests		42.99		33.69		
55-Iron2-18	Iron 2 - Kit contains 3 Single Tests		49.89		39.09		
155-Iron2-21	Iron 2 - Kit contains 3 Single Tests		56.69		44.39		
155-Iron2-24	Iron 2 - Kit contains 3 Single Tests		63.49		48.39		
155-Iron2-27	Iron 2 - Kit contains 3 Single Tests		70.39		53.59		
155-Iron2-30	Iron 2 - Kit contains 3 Single Tests		77.19		58.79		
155-Iron2-33	Iron 2 - Kit contains 3 Single Tests		83.99		63.99		

			List		Online		
SKU	160 - Iron 2 and 3 (Rusty Colored Deposits / Stains)	Qty	Price	Savings	Price	SubTotal	Kits Total
160-Iron2-33	Iron 2 and 3 - Kit contains 3 Single Tests		14.99		12.59		
160-Iron2-34	Iron 2 and 3 - Kit contains 4 Single Tests		16.99		14.09		
160-Iron2-36	Iron 2 and 3 - Kit contains 6 Single Tests		22.49		18.39		
160-Iron2-38	Iron 2 and 3 - Kit contains 8 Single Tests		27.09		22.09		
160-Iron2-39	Iron 2 and 3 - Kit contains 9 Single Tests		29.39		23.69		
160-Iron2-310	Iron 2 and 3 - Kit contains 10 Single Tests		31.59		25.39		
160-Iron2-312	Iron 2 and 3 - Kit contains 12 Single Tests		36.19		28.69		
160-Iron2-315	Iron 2 and 3 - Kit contains 15 Single Tests		42.99		33.69		
160-Iron2-318	Iron 2 and 3 - Kit contains 18 Single Tests		49.89		39.09		
160-Iron2-321	Iron 2 and 3 - Kit contains 21 Single Tests		56.69		44.39		
160-Iron2-324	Iron 2 and 3 - Kit contains 24 Single Tests		63.49		48.39		
160-Iron2-327	Iron 2 and 3 - Kit contains 27 Single Tests		70.39		53.59		
160-Iron2-330	Iron 2 and 3 - Kit contains 30 Single Tests		77.19		58.79		
160-Iron2-333	Iron 2 and 3 - Kit contains 33 Single Tests		83.99		63.99		
SKU	165 - Copper	Qty	Price	Savings	Price	SubTotal	Kits Total
165-Cu3	Copper - Kit contains 3 Single Tests		14.99		12.59		
165-Cu4	Copper - Kit contains 4 Single Tests		16.99		14.09		
165-Cu6	Copper - Kit contains 6 Single Tests		22.49		18.39		
165-Cu8	Copper - Kit contains 8 Single Tests		27.09		22.09		
165-Cu9	Copper - Kit contains 9 Single Tests		29.39		23.69		
165-Cu10	Copper - Kit contains 10 Single Tests		31.59		25.39		
165-Cu12	Copper - Kit contains 12 Single Tests		36.19		28.69		
165-Cu15	Copper - Kit contains 15 Single Tests		42.99		33.69		
165-Cu18	Copper - Kit contains 18 Single Tests		49.89		39.09		
165-Cu21	Copper - Kit contains 21 Single Tests		56.69		44.39		
165-Cu24	Copper - Kit contains 24 Single Tests		63.49		48.39		
165-Cu27	Copper - Kit contains 27 Single Tests		70.39		53.59		
165-Cu30	Copper - Kit contains 30 Single Tests		77.19		58.79		
165-Cu33	Copper - Kit contains 33 Single Tests		83.99		63.99		
SKU	170 - Zinc	Qty	Price	Savings	Price	SubTotal	Kits Total
170-Zinc3	Zinc - Kit contains 3 Single Tests		13.99		11.79		
170-Zinc4	Zinc - Kit contains 4 Single Tests		15.99		13.29		
170-Zinc6	Zinc - Kit contains 6 Single Tests		19.79		16.19		
170-Zinc8	Zinc - Kit contains 8 Single Tests		23.09		18.89		
170-Zinc9	Zinc - Kit contains 9 Single Tests		24.69		19.89		
170-Zinc10	Zinc - Kit contains 10 Single Tests		26.39		21.29		
170-Zinc12	Zinc - Kit contains 12 Single Tests		29.69		23.59		
170-Zinc15	Zinc - Kit contains 15 Single Tests		34.59		27.09		
170-Zinc18	Zinc - Kit contains 18 Single Tests		39.59		30.99		
170-Zinc21	Zinc - Kit contains 21 Single Tests		44.49		34.89		
170-Zinc24	Zinc - Kit contains 24 Single Tests		49.49		37.79		1
170-Zinc27	Zinc - Kit contains 27 Single Tests		54.39		41.49		
170-Zinc30	Zinc - Kit contains 30 Single Tests		59.39		45.29		1
170-Zinc33	Zinc - Kit contains 33 Single Tests		64.29		48.99		1

			List		Online		
SKU	175 - Salinity (Dissolved Salt) of Water	Qty	Price	Savings	Price	SubTotal	Kits Total
175-Salinity3	Salinity - Kit contains 3 Single Tests		12.99		10.89		
175-Salinity4	Salinity - Kit contains 4 Single Tests		13.99		11.59		
175-Salinity6	Salinity - Kit contains 6 Single Tests		17.69		14.49		
175-Salinity8	Salinity - Kit contains 8 Single Tests		20.69		16.89		
175-Salinity9	Salinity - Kit contains 9 Single Tests		22.19		17.89		
175-Salinity10	Salinity - Kit contains 10 Single Tests		23.59		18.99		
175-Salinity12	Salinity - Kit contains 12 Single Tests		26.59		21.19		
175-Salinity15	Salinity - Kit contains 15 Single Tests		30.99		24.29		
175-Salinity18	Salinity - Kit contains 18 Single Tests		35.39		27.79		
175-Salinity21	Salinity - Kit contains 21 Single Tests		39.89		31.29		
175-Salinity24	Salinity - Kit contains 24 Single Tests		44.29		33.79		
175-Salinity27	Salinity - Kit contains 27 Single Tests		48.69		37.19		
175-Salinity30	Salinity - Kit contains 30 Single Tests		53.09		40.49		
175-Salinity33	Salinity - Kit contains 33 Single Tests		57.59		43.89		
SKU	180 - Bacterial Growth Indicator	Qty	Price	Savings	Price	SubTotal	Kits Total
180-BactInd3	Bacterial Indicator - Kit contains 3 Single Tests		21.99		18.39		
180-BactInd4	Bacterial Indicator - Kit contains 4 Single Tests		25.99		21.49		
180-BactInd6	Bacterial Indicator - Kit contains 6 Single Tests		35.09		28.59		
180-BactInd8	Bacterial Indicator - Kit contains 8 Single Tests		43.19		35.09		
180-BactInd9	Bacterial Indicator - Kit contains 9 Single Tests		47.29		37.99		
180-BactInd10	Bacterial Indicator - Kit contains 10 Single Tests		51.29		41.19		
180-BactInd12	Bacterial Indicator - Kit contains 12 Single Tests		59.49		47.09		
180-BactInd15	Bacterial Indicator - Kit contains 15 Single Tests		71.69		56.09		
180-BactInd18	Bacterial Indicator - Kit contains 18 Single Tests		83.89		65.59		
180-BactInd21	Bacterial Indicator - Kit contains 21 Single Tests		96.09		75.09		
180-BactInd24	Bacterial Indicator - Kit contains 24 Single Tests		108.29		82.49		
180-BactInd27	Bacterial Indicator - Kit contains 27 Single Tests		120.49		91.69		
180-BactInd30	Bacterial Indicator - Kit contains 30 Single Tests		132.69		100.99		
180-BactInd33	Bacterial Indicator - Kit contains 33 Single Tests		144.89		110.29		
INVOIC	E	SA	VINGS		TOTAL		